| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

B
o
=1

Q= L~
€ : “E
Qe : A
> . o N
[ToRe= Tttt N T
— © : x
% L1
o M .
— © 5 s mﬂ
[te) H H
g :
o £ s o
5 .
is H :
2 . o
o E PITAPS b
= [ : |
M 2 :
s .

i 2 . o
S 3 AR
= :

N ] :
] 8 H o
IN 2 o) P
) 8 2 1
5
soe areaydnp M z | syoen sreoydnp oney
0 _ o
N o =
£ £
RS =
> o N
o X =]
— © x
% g
S8 o =
had —
0
o o
Lo 0
! =}
o —
! . ]
O oo
i . . I8 (=}
| PR B 14
o HER B
: N oo
1 9 A =
B = =) SN
9 - ! = =1 R
SN ) M syoen a8y oney
0 _ D~
NE . Rz
HR e A
> o N
o X =]
-8 o x
% g
Jo M
= O |n o 5
s |8 =
-{o H
o
2
o m
e E|
o 3
P e} =
| 8 :
Lo 2
8 =t < .
| 3 H
o E H
S : :
I H i
Q <
: S
e z

track dxy (cm)

30

20
track dz (cm)

10

-10

-20

0

< ~
(=] (=}

syoer™

05 =50-15-10 -5 0 5 10 15 20 25

N of reco track vs dz

5
3
syoen

N
o
—

10

5
=3



	Contents
	Page 1


